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Complete pg. 413
Questions 1, 2, 6, 7
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1. The value of the expression
1-9-31=15-2°1 + [-7+4-4] is . ..

> -9-31-15-23 |+ |-7+1- 4|
42l - 15-81 + | -6-4)
12 - 1-3] + 1-10}
12-3+ 10
=9 +10
=19

TR

CHoTCE: A
2. The range of the function F&)=1%x-3\ 1s...

ﬁ?ﬁaei YANEEN >0,y ERS
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Solutions -——————————

Short Answer
6. (ensider Hhe function FOO=12x-7).

a) Sfecten the Sroph of +he function.
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b) Determine the intercepts.

To €ind X-int, lety=0% y-int e -]
= = dx-"1 (F‘tj*om Above).
= 2X-77

= N
2 Z

d=%
2

%x=-ints 7 oc 3.5
"

Q) State Hhe dbmcm and ronge .
Range: {yly=0,yeRr}

d) ‘thﬁr = +he .p{ecéwisé notation form
of +he function.

y={ 2x-7 %=,
- —(Q_X"—})) '><.< -11’[2)




precal11ch7PracticeTest.notebook

Solutions =-——————————

7. §Ql\{e "F\\C Eq_)uo‘h'on ](}x"—'xfz N

——

3x=x%x=0
X (3%x~1)=0
xX=0 U"3Xl @

= |13x=-x|=y4x-2

QIS‘x’—-x |=

%=2. Q\8ebm{ca\\J-

3’)&-’)( %X£0orX2 Y3
Cex-'x) O<Xx<'ls

CaseA

L W

Ay 2=X=N%-2. ’X,=-—bt —=Nac * Both x=1
and X=%3

3xX=%X-Mx%x +2=0

xX= 5*’\](5) Y(3X2) Scnhsncxf the

¥ Neither %
‘+he Lcnuﬁnor\ Ot A 4 s,

X=0.M574Y or X=
=095 or X=-1M5TM Sotisty

3X=5X+2=0
a=3,b=5,c=2 3 Condition
~x=5% {25-2M X213,
©
x=8*{1
©
x=5€¢
X= Y=L or x="l=/3
Case 2
bt | b*-Yac
-@x*=x)=Mx-2 2q
~2%2 4+ % = Mx—2, = -3 + {(@®)HEX2)
O= 3Ix*+4x=-%-2 263)
O= 3x*+3%X-2 x=-3E{q+24
a=3,b=3,c=-2 -
X=-3EN33
6
-1.4574
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